[Effici

ency vs vertpos |

~ 0.5

§0.45
2 0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05

efficiency

Ratio

1

10f

1.2+

S HEER AR R {-H
. T o - 4
H . | T- E
b - -4 - -
H e . + .
0.9

102 107 1

DQ
DQ
Efficiend —— B3

0.8

10 0?
TP vertr (cr%)

MKEIT_T1base
mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mKkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

<4

0.7

0.6

0.5

efticiency vs vert z

0.4

0.3

0_2:_ .......................................
(0J/| SeEREERE: SERREY] EERERPEES R iS SREREEEE REEEEES
r (TR ¥
° LG:""i""f""'Pw'M""i""
o SRR - - - - ARREPERS
N | i 111 S
- : ] WHHE ]
%35 =20 -10 0 10 20 30

TP vert z (cm)

[Effici

ency vs.sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

L e N R e e
- = -

E 4

E 217777 [
i (R 5 R AP N R N 4 A N TN A 3 N
E ko

- ] 1 . [
E b

Ratio

o o R

=
o

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


